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1. No. 11T

(1)No. 1A 1T

No. 1A 1ET. (A v 1. 000
avy U— L (RE) BB18-8-40 W/C=60% m3 136. 400
FIAk i m3 136. 400
TR T, (AR$2) nf 140. 000
BT (BOKE) nf 3.700
AR GRS - /A 1k) ot 7.700
ACEFTHE H #5155 ¢ 22 L=2.403m VN 72. 000
a7 U — L ([HES BB18-8-40 W/C=60% m3 23. 500
AP (MEL) nf 24. 600
HARET (t=15cm) fg§57~15cm, 1878 i 17. 300
BT Gy bir=7) m 80. 600
AV FERET vk 2. 000
F— AT L— b (PAIMEA AR o fem e 1. 000
ABEAT 7 1 45. 000
b (BRI XA 4007500%2. Om - ZHES | gy 1..000

+T iy 1. 000
HH Mg m3 121. 000
EHI WS 1B m3 123. 000
Py ALK A 1B nf 58. 800
X7 STy 7@ L=9. 6km m3 122. 000
B AL PR m3 122. 000

2. No. 2% 1R T
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R 4B BETY -2 TR B THFE HOFMEERE)  (BERRER)
TFE - FER - A0 Biks AL Kok i &
(1)No. 288 IE T
No. 28 IET. (=227 U—}) 2y 1.000
ayr7 J— L (RR) BB18-8-40 W/C=60% m3 246. 200
FIE i m3 246. 200
TR T (AEE) nf 140. 800
A AT nf 84. 000
TR (oK) i 3. 700
H Rk VEE T WM B A t=10mm nf 17. 500
SRTEFTHE B BIM (1L i 17. 500
1B 7R AR m 6. 100
ACEFTHE H #5155 ¢ 22 1=2.403m EN 179. 000
PR (EL) Zgg%igomm 5. Smm I m 8. 600
aryzY— L (& BB18-8-40 W/C=60% m3 10. 000
TR T (FHEE) nf 34. 800
HART (t=15cm) fg§57~15cm, 1878 i 34. 800
REGTL Gy b)) m 106. 500
R BT L b (AN ) o faem K 1. 000
B AT v &l 54. 000
+T =X 1. 000
EH B L m3 240. 000
PEHI HCE 1B m3 62. 000
T HbE I I HE m 48. 100
E R #E 1B i 34. 400
3. L
()L
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R 4B BETY -2 TR B THFE HOFMEERE)  (BERRER)
TFE - FER - A0 Biks AL Kok i &
% L Tk 5 v 1.000
o5 YT B B H m 3.500
fa A - s ® 500 m 50. 000
KB+ 5 FRE - ik £ 12. 000
TR BERS WE7 7 m3 0.010
EoT Ty o = 1. 000
G an JEREAHENL - i = 1. 000
JEREREHNAE GRILZ L T) m 15. 000
4. TREARLILT
(1) SPRAMLIET
AL T KA ER 2y 1. 000
AR R B 10em S 1..000
AR R f B 14em S 1..000
AR R Bz 16cm S 2. 000
AR R B 18em S 2. 000
AR R B 20em S 1..000
AR R f i E R 22em S 1..000
AR R f B 24em S 3.000
AR R B 28em S 3.000
AR R B 30cm S 1..000
AR R s E AR 32cm S 3.000
AR R B 34em S 1..000
AR R Bz 36cm S 3.000
AR R AR 38em S 1..000
AR R B 40cm S 1..000
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R 4HHK BATY -2 3WRE BHETHE GHOFREAE) EERER)

TFE - FER - A0 Biks AL Kok i &
AR R B 42cm S 3.000
AR R f B 44em S 3.000
AR R B 46cm S 1..000
AR R B 48cm S 1..000
AR R B 52em S 1..000
AR R Bz 54em S 2. 000
AR R AR 58cm S 1..000
v/ X fkikE =R 10cm EN 1. 000
v/ X fkik#E =R 24em EN 1. 000
v/ X fkik#E =R 28cm EN 1. 000
v/ X fkikE =R 32em EN 2. 000
v/ X fkiRE =% 38cm EN 1. 000
v/ X fkik#E =R 46em N 1. 000
AR R f s E R 22em S 1..000
AR R s E AR 28em S 1..000
AR R B 30cm S 1..000
AR R s E R 32cm S 1..000
AR R B 34em S 2. 000
AR R Bz 36cm S 2. 000
AR R AR 38em S 1..000
AR R AR 40cm S 2. 000
AR R B 42em S 2. 000
AR R f B 44em S 2. 000
AR R AR 48cm S 1..000
AR R B 50cm S 1..000
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R4EWR BETY -5 fE RELSE (HOFHERE)  EEREER)
TAE - FER - AR ok HLAZ Kok i =
AFx {kERE farE A 52cm EN .000
Ax (kER#E e A 60cm EN 2.000
Ax (kER#E e 66cm EN .000
Ax (kERE farEAE 70cm EN .000
Ax (ERE farE A 73cm EN .000
b /% iR MEESE  12cm EN 4.000
b /% iR MEES  14em EN 2.000
b /% iR MEES  16em EN 5.000
b/ % iR MEES  18cm EN 2.000
b /% iR MEES  20cm EN 2.000
b /% iR MEESE  22cm EN 5.000
b /% iR MsES  24cm EN 8. 000
b /% iR MEES  26cm EN 2.000
b /% iR MsES  28cm EN 3.000
b /% iR MEES  30cm EN 5.000
b /% iR M ES  32cm EN 3.000
b /% iR M ES  34cm EN 2.000
b /% iR M ES  40cm EN 2.000
b /% iR MsESE  42cm EN .000
AR BEM AR ton 6. 500
2T Ty T ER = .000
fEBRAALIE T, X .000
(RASLBE AT %ﬁ%,wcm;ﬁﬁzomﬁ% m3 0.020
(RASLBE AT %ﬁg(foré;g%jilficmﬂi m3 0. 400
ok b T 16enLazen g 400
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R4EWR BETY -5 fE RELSE (HOFHERE)  EEREER)
TR - AR - A0 ok HLAZ Kok i =
(RASLBE AT %@iﬁ;@%ji%cm* m3 2. 300
(RASLBE AT f%ﬁjﬁ 28emELL, 200mA | 19. 400
APEM [REZZS ton 12. 900
(RASLBE AT %ﬁzggnﬁg%jizzcmﬁ m3 8. 800
PEM fRIA ton 4. 800
AR BEM AR ton 6. 000
GESED) i 230. 000
ZT Ty 7 ER = 3.000
L T (— iR B O S R)
1. Mk
(1) bppte
FEL X 1.000
B Y >k RA H=2.0m v b 2. 000
R
1. EfERE
(1) Bk
G X 1.000
% bA v & D% A 7.000
Tt
1. Zaeth
(1) zet
iSect X 1.000
R Gl aicn £ 1. 000
RN EEFTHELA X 1.000
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